1 1
A®No.| % # % |pmen

65— 1| & ¥ #% 65, 7| AR LAFEAX ')F@va)%ﬁ
v 66— 1| AEXARE '66. 9| THREKLD T
67— 2 p 67, 9 7 HLER S
v67— 3 v ’67.11 7 4> B
e67— 4 7 ’67. 9 7 B ik 2 B
e68-- 1 » ’68. 7 7 faF 5>
t 68— 2 Y ’68, 8 7 V]
68— 3 V2 ’68. 9, 7 e 24y
L69— 2 7 ’69. 8 7 A4
49 e7l— 1 7 '71. 7 7 7
e71— 3 # # # 71,08 WK LATFHRELD Mo %
e71— 4| W & R 71, 9] BEEEME LATRGELD MRS
e7l1— 5 ” '71.10 7 ”
2 #63— 1| X 4 R | ’63. 5 \EEKHE LA 7
A6d— 1| # Jb R 64, 2| HE XD o
2 1 #64— 6| B B R | ’64.100 SEEBRE LATHRELDEMS R
#64— T W K R ’64.10 7 ”
1 #65— 1 A 5 A | 65, 4 ’ ”
2 #70— 1 x £ R | ’70.10] IBREKREEE LA P
#70— 3l ¥ 7 v K| '70. 8 ” 7
3 900cc AT0— 4l 8L B R | 70,11 SEEAE LA ”
4 1 AT1— 1)) AEKRRE | 71, 5 FHREAELD MBS
2 2
24 12.5 22.5
1 4 1
5 2
3
2
15mm
9 3cm
3 120 90
4
2 3
5 22 23 30
1
6
7
5mm
3
31
8
1 2
2 71 4 70 3
47 4 7

70 4 67 3 711



83.29

55.89 3 2
2
71 5
71 4 64 6
64 7 65 1 70 3 70 4
68 2 71 4 64 6
71 5
1
68 2 2
[ 22 Lanes 13
| A ic 38 L F % kO B R
H
Q%No" ‘ - Be# | BB S E
A R Ll
i * * » * *
r 1-‘—:47.q | () (m®EPE B |gos | ®
g “"4_0 v 65— 1 i 73.2 | 10.0 X x x | x
R T I e66— 1 | 52.9 | 44.7 X x x | x
67— 154.1 e67— 2 | 46.3 | 12.1 X X x | &
L 67— P
72— - €67~ 3 | 13.4 | 8.6 | A A X o)
(9.3
t67~3—7}'6.8 67— 4 | 4.4 X X
| e68— 1 14.8 15.5 X X A X
= 6/—4{_14 o 52.8 L 68— 2
) € 68— 3 28.9 | 10.6 X X X X
L 69— 2
71— 1 || 68.3 | 10.3 X X X X
e71— 3 || 36.7 8.7 X X X N
e71— 4 21.0 11.4 @) O A O
e71— 5 || 24.8 | 32.7 ) o) o X
e 71—1 I Ow #63— 1 17.0 7.3 A A X X
39.7 H64— 1 20.3 8.0 e} e} X X
£ 713 46.8 o #64—6 || 215 | 8.4 | O 0 a o
C71—s a0 64— 7 | 227 | 115 | O A N A
g #65— 1 | 19.6 | 22.6 o) o} N N
=715 55.8 #70— 1 || 14.8 7.5 o ) X X
68.2 #70— 3 24.0 12.6 O O O @]
7 63— | Y -
i 56 #70—4 | 22.3 | 22.8 0 o} o) o
?764-*1—‘54'8 ani—1 | 621 | 6.8 X X X x
62.4 .
# 64—6 67.3 * X e, A F, O By, O FEFEE-
33.6 ** X OFR, A H, O B
7 64—7 TR
# 65—1 i
65— 56.7
65.5 331
»70—1—‘—'6&1
79.5 2
7170‘3—852
74.4 2 3
w7o~4#80.9
o

 — 2P 7
IR

100(g/ Ji#)



25

O—0 B L (5 H = & DFH) o—o s 5—5 0 10
2 o—eo RELM(5 B & r.0¥H) Vi
o—2 \ )
oC 15 5 O—0o0 s n/ 'Y o o (]
N = N\ o
10  J ° —eo
# ~.
5 —p
Ve 2
-
O 12 15
2 S
% o 3
0] o]
O O O
o O O 0O (@) o O O O 0O
5 10 15 20 25 30 35 40 45 50 55 60 65 70 75 80 85 90(AH)
5 15
2 1
12.5 22.5
25 —+ / /
ol v /
cwl /T N[
Wi\
1 v - 4
0 12: 24 (s H])
22
I 71
O
W O 4 70 3 70 4
B o O
2 0o O 71 5
# 8 Ie)
O 8 8
O 0.0 0O (@) o 12 15
5 10 15 20 25 30 35 40 43(H)
3 1

50 8 12



